MEMO 23-13

	TO:	Frank Schulte, City Administrator				
	FROM:	James Kowalski, Director of Public Service	es G.K			
	DATE:	June 1, 2023	U			
	SUBJECT:	Recommendation – 2023 Sewer Cleaning Investigation Program – AEW Project No.		t Television		
	2023/2024 co	During the Finance Committee meeting, a discussion was held regarding the proposed 2023/2024 construction projects. Included in discussion was the 2023 Sewer Cleaning and Closed-Circuit Television (CCTV) Investigation Program.				
	Cleaning and Closed-Circuit	Corby Energy Services, Inc. has offered to extend their contract unit prices from the 2022 Sewer Cleaning and Closed-Circuit Television Investigation Program for the 2023 Sewer Cleaning and Closed-Circuit Television Investigation Program. Corby Energy Services, Inc. was the lowest qualified bid received on June 29, 2021.				
	They are qualified to perform this work and it is satisfactory. Anderson, Eckstein and Westrick, Inc. (AEW) believes based on the limited amount of proposed footage the City would not benefit in seeking bids for this year.					
	Cleaning and	Based upon the recommendation of AEW, I concur that the contract for the 2023 Sewer Cleaning and Closed-Circuit Television Investigation Program be awarded to Corby Energy Services, Inc., 6001 Schooner, Belleville, Michigan 48112 in the amount of \$65,087.50.				
	problems show will be provide	recommend a contingency in an amount not to exceed \$18,245.50 for any unforeseen problems should they arise. I further recommend design and construction engineering fees that will be provided by Anderson, Eckstein and Westrick, Inc., 51301 Schoenherr Rd., Shelby Twp., WI 48315 in an amount not to exceed \$16,667.00. The total project will not exceed \$100,000.00.				
	This is a budgeted item included in 2023/2024 fiscal year budget in the water/sewer sewer cleaning - construction account no. 592-537-975.005 in the amount of \$83,333.00 and the water/sewer sewer cleaning - engineering account no. 592-537-975.004 in the amount of \$16,667.00.					
I do not believe any benefit will accrue to the City by seeking further bids. Approved for Council Consideration:						
	Frank Schulle,	, Oity Administrator	Date	RECEIVED		
	Fund Certificat	tion:		JUN 0 2 2023		
	Account numb	ers and amounts have been verified as pre	sented.	CITY OF GROSSE POINTE WOODS		
	Shaum	Murcha	6-2-23	CLERK'S DEPARTMENT		
		y, Treasurer/Comptroller	Date	-		



ANDERSON, ECKSTEIN & WESTRICK, INC. CIVIL ENGINEERS - SURVEYORS - ARCHITECTS

513ct Screenwer Rend Stelley Secuslisp, Midd 115-586-72c.1236 Every Sevence on

June 1, 2023

Frank Schulte, City Administrator City of Grosse Pointe Woods 20025 Mack Plaza Grosse Pointe Woods, Michigan 48236-2397

Reference:

2023 Sewer Cleaning and CCTV Investigation Program

City of Grosse Pointe Woods AEW Project No. 0160-0467

Dear Mr. Schulte:

Corby Energy Services has offered to extend their contract unit prices from the 2021 Sewer Cleaning and CCTV Investigation for the proposed 2023 Sewer Cleaning and CCTV Investigation program. A summary of the bid items is included on the attached Proposal,

Based on the limited amount of proposed footage we believe the City would not see a benefit in seeking bids for the 2023 Sewer Cleaning and CCTV Investigation Program.

Therefore, we recommend the contract for the 2023 Sewer Cleaning and CCTV Investigation Program be awarded to Corby Energy Services, Inc. in the amount of \$65,087.50.

In addition, we are recommending a construction contingency in the amount of \$18,245.50 as well as design and construction engineering in the amount of \$16,667.00. Therefore, the total project cost estimate is \$100,000.00.

If you may have any questions please advise.

Sincerely,

Frank D. Varicalli

Infrastructure Rehab Group Lead

Frank Varicalli

Enclosure: Proposal

cc: James Kowalski, Director of Public Services

Shawn Murphy, Controller

Ross Wilberding, PE, Anderson, Eckstein and Westrick, Inc.

PROPOSAL

CITY OF GROSSE POINTE WOODS 2023 SEWER CLEANING AND CCTV INVESTIGATION AEW PROJECT NO. 0160-0467

ltem <u>No.</u>	Description	Estimated Quantity Unit	<u>Bid Unit Price</u>	Bld Price
1.	Bonds, Insurance & Initial Set-Up Expense	1 LS	1,800.00 \$	1,800.00
2.	Mobilization	1 LS	5,000.00	5,000.00
3.	Cleaning 06 - 12 inch Combined Sewers	3,400 FT	1.50	5,100.00
4.	Cleaning 15 - 21 inch Combined Sewers	3,250 FT	1.75	5,687.50
5.	Cleaning 24 - 36 inch Combined Sewers	2,050 FT	2.00	4,100.00
6.	Cleaning 39 - 48 inch Combined Sewers	1,250 FT	2.50	3,125.00
7.	Heavy Cleaning 06 - 12 inch Combined Sewers	850 FT	1.00	850.00
8.	Heavy Cleaning 15 - 21 inch Combined Sewers	850 FT	1.00	850.00
9.	Heavy Cleaning 24 - 36 inch Combined Sewers	550 FT	1.00	550.00
10.	Heavy Cleaning 39 - 48 inch Combined Sewers	350 FT	1.00	350.00
11. 12.	Extra Heavy Cleaning Final TV Investigation and Log, 06 - 12 inch	4 Hrs	325.00	1,300.00
13.	Combined Sewers Final TV Investigation and Log, 15 - 21 inch	3,400 FT	1.50	5,100.00
14.	Combined Sewers Final TV Investigation and Log, 24 - 36 inch	3,250 FT	1.50	4,875.00
15.	Combined Sewers Final TV Investigation and Log, 39 - 48 inch	2,050 FT	1.50	3,075.00
16.	Combined Sewers Final TV Investigation and Log, 60 inch Combined	1,250 FT	2.00	2,500.00
10.	Sewers	1,650 FT	3.00	4,950.00
17.	Cut Protruding Tap	5 EA	50.00	250.00
18.	Remove Mineral Deposits	25 EA	25.00	625.00
19.	Deliverables	1 LS	2,500.00	2,500.00
20.	Traffic Maintenance and Control - Major Roads	1 LS	7,500.00	7,500.00
21.	Traffic Maintenance and Control - Minor Roads	1 LS	5,000.00	5,000.00
		PROPO	SAL GRAND TOTAL \$	65,087.50

PROPOSAL

CITY OF GROSSE POINTE WOODS 2023 SEWER CLEANING AND CCTV INVESTIGATION AEW PROJECT NO. 0160-0467

Corby Energy Services, Inc.	6001 Echooner Prive
Bidder/Countil	Address
	Belleville, MI 48112
Signature	Address
Day Dearporter	
Printed Normal	Address
My Maso	[734] 547-9237
Attest Signature	Telephone
Jacob Marin	J martin@cory crayy.com
Attest Printed Name	Email Address
3/21/27	Jacob Martin
Date of Signature	Email Recipient

^{*}Contractor will be required to submit insurance and bonds for this project

^{**} Water shall be obtained through the Grosse Pointe Woods DPW